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READY, SET, GO! Name Period Date
READY

Topic: Multiplying two binomials
In the previous RSG, you were asked to use the distributive property on two different terms in the same

problem. Example: Multiply and simplify 3x(4x + 1) + 2(4x + 1).

You may have noticed that the binomial (4x + 1) occurred twice in the problem.

Here is a simpler way to write the same problem: (3x + 2)(4x + 1).

You will use the distributive property twice. First multiply 3x(4x + 1); then multiply +2(4x + 1). Add
the like terms. Write the x2 term first, the x-term second, and the constant term last.

3x(4x+1)+2@x+1) » (12x2+3x) + (8x+2) - 12x%2 + [3x+8x] + 2 - 12x2 +11x + 2 ,
like terms T
Simplified form

Multiply the two binomials. (Your answer should have 3 terms and be in this form ax? + bx + c.)

1. (x+5)(x—7) 2. (x+8)(x+3) 3. (x—9)(x—4)
4, (x+1D(x—-4) 5. 3x—-5((x—-1) 6. 5x—7)(3x+1)
7. (4x — 2)(8x + 10) 8. (x+6)(—2x +5) 9. 8x—3)(2x—-1)

.5 54 YW

Topic: Distinguishing between linear and quadratic patterns
Use first and second differences to identify the pattern in the tables as linear, quadratic, or
neither. Write the recursive equation for the patterns that are linear or quadratic.

10. x y 11. x y 12. x y _
-3 -23 -3 4 | -3 -15 N
2 | a7 2 |0 I>39~ 2 10 "
1 |1 1 2~ 3\>+; 1 5 ~|FS
0 -5 0 2 S0 I 0 0 o |y
1 1 1 0 a~> > 1 5 )\ 45
2 7 2 x  HoR 2 10 |45
3 13 3 10 3— 15 21 +§
a. Pattern.:)/'\(\g/n&/k A Pattern: \ = \( pl a. Pattern( \N: S%\
b—Reeursive-equation: b—R . 3 l . :
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13. 14. 15.
X y X Yy X Y
-3 24 -3 48 ~ | -3 4
-2 22 -2 22 l’“’uo -2 1
-1 20 1 |6 ] (E: D 1o
0 18 0 S 0 1
1 |16 1 [ Q[0 1 |4
2 |14 2 18 |y 2 |9
3 12 3 T4 |40 3 16
a. Pattern: a. Pattern: W j\"hc a. Pattern:
b. Recursive equation: b. Recursive equati b. Recursive equation:
16. :;),X l_O x=3 SX
, 2>
Figure 1 Figure 2 Figure 3 S)(g‘ ><Flgure 4 Figure 5 | 2
\J —

X U —
|
3
Ly

>+
7] <. t 2
<,;‘L0> +9

WY,

b Predict the number of squares in figure 30. Show what you did to get your predlctlon

o W= YRR D (30 200

Topic: Interpreting recursive equatlons to write a sequence

Write the first five terms of the sequence. q ko ,a\
17. f(0)=-5fM) =f(n—-1)+8 18. f(0) =24;f(n) = f(n—-1) -5

a. Dra

19. f(0) =25 f(n) =3f(n—1) 20. f(0) =6;f(n) =2f(n—1)
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1.5 The Tortoise and The Hare

Solidify Understanding Task

CC BY Paul Dunleavy
https:/lic.kr/p/pjQXLd

Ih te children’s story of the tortoise and the hare, the hare mocks the tortoise for being slow. The
tortoise replies, “Slow and steady wins the race.” The hare says, “We’ll just see about that,” and
challenges the tortoise to a race. The distance from the starting line of the hare is given by the function:
d = t? (d in meters and t in seconds)
Because the hare is so confident that he can beat the tortoise, he gives the tortoise a 1 meter
head start. The distance from the starting line of the tortoise including the head start is given
by the function:

d = 2! (d in meters and ¢t in seconds)

1. At what time does the hare catch up to the tortoise?

&8@@0(\@1 S

2. If the racecourse is very long, who wins: the tort01se or the hare? WIK" l l

T g0 ~Gx1 S
KJ\(J( Y @mw( oot mﬁ ot

3. At what time(s) are they tied?

t doond Y <p s

4. If the racecourse were 15 meters long who wins, the tortoise or the hare? Why?
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1.6 How Does It Grow?

A Practice Understanding Task

0
8
C
)
e

For each relation given:

a. Identify w {7 er or not the relation is a

T (o (epda

b. Determine if the functlon is linear, expone

function;

C. cyib e e th

f\ Create one more representation for the relation. «'Pr A\,ﬂb Lé

tial, quadratic or neither; —fg \’dbl&

CC BY Michael
https:/lic.kr/p/oh90Yh

1. pl mber charges a base fee of $55 for a service call plus E35 per houﬂ for each hour

worked during the service call. The relationship between the total price of the service call and

the number of hours worked. (/: 5 5 J( — —
G55,

2.
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3 o ( 3
------ e e g e A Y{ S
------
------
------ I B 1YY G
------ T T
------ ST o cole
------ S S T

...... .:r------i.-..-1.-...--...--- ————— — X
0 ® o ®
1 -3 -2 -1 0 1 2 3 - (

4,

5.
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6. y = %(x —2)+4
7. The relationship between the speed of a car and the distance it takes to stop when

traveling at that speed.

Speed Stopping
(mph) Distance \ A D\ S \/
(fo)
10 12.5 ~
20 50 < 3S > A S
30 1125 < | (92 - S> 3
40 200 Z]%)-S S S
50 3125 ( \laS S
60 450 2|13 2 xS
70 612.5 ~] 095D >S
8. The relationship between the number of dots in the figure and the time, t.

| >

3>3
IO

B ERNUN'S R

2
Quid /3y Sx
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caffsine in the bloodstream is 500 mg.

10.

e it N
: ' | : i : : : |
B e e I N el ) i
S
A A P
T e ] B e
; i | i | i L0 ; N
-7 -6 -5 -4 -3 -2 -1 0 1 2
11. y={@lx+3)(x—-6)
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12. Mary Contrary wants to build a rectangula r garden surrounded by a walkway 4

meters wide. The flower garden will be 6 meterS longer|than it is wide.

a. The relationship between the wigth of the garden and the perimeter of the walkwa

b. The relationship between the width of the garden and/rea of the walkway.

® 16+ L
14. e
2 °
T T _'5 T :
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